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QUESTION 1

The BIG-IP ASM System is configured with a virtual server that contains an HTTP class profile and the protected pool
members are associated within the HTTP class profile pool definition. The status of this virtual server is unknown (Blue).
Which of the following conditions will make this virtual server become available (Green)?

A. Assign a successful monitor to the virtual server

B. Assign a successful monitor to the members of the HTTP class profile pool

C. Associate a fallback host to the virtual server and assign a successful monitor to the fallback host

D. Associate a default pool to the virtual server and assign a successful monitor to the pool members

Correct Answer: D

QUESTION 2

Which statement is correct concerning differences between BIG-IP ASM platforms?

A. The 3900 has more ports than the 6800.

B. The 3900 and 6800 have the same number of ports.

C. The 3900 and 6800 can support both the module and standalone versions of BIG-IP ASM.

D. The 3900 can support both module and standalone versions of BIG-IP ASM whereas the 6800 can support only the
module version of BIG-IP ASM.

Correct Answer: D

QUESTION 3

A request is sent to the BIG-IP ASM System that generates a Length error violation. Which of the following length types
provides a valid learning suggestion? (Choose 3)

A. URL

B. Cookie

C. Response
D. POST data
E. Query string

Correct Answer: ADE

QUESTION 4
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Which level of parameter assumes the highest precedence in BIG-IP ASM System processing logic?
A. Flow

B. Object

C. Global

D. URL

Correct Answer: A

QUESTION 5

When configuring the BIG-IP ASM System in redundant pairs, which of the following are synchronized? (Choose 2)
A. License file

B. Security policies

C. Web applications

D. Request information

E. Traffic learning information

Correct Answer: BC
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